HEELEAN EES

ETSHE—HF (BT +=%5ENIERR)
EANENEEEEETES
(H) Er308F481H () Erk31F3H31H
(841 : A)
BENE LEERB(A) B RE(B) IER(A)-(B)
NIRRT 48,689, 850 36, 386, 815 12,7303, 035
ENBUBRINGS 0 0
SR RN 0 0
REBHINZ 109, 414, 220 107, 570, 780 1, 843, 440
| EE s 0 0
BT -CAZ BRI 0 0
| T e s 0 0
|| |EEEs 0 0
| |EEEEs 10, 000 10, 000 0
ZORIDURZS 0 0 0
A [p-tzEsmpasst (1) 158, 114, 070 143,967, 595 14, 146, 475
=ININE 107,477,918 91, 259, 897 16, 218, 021
Bh| |mxem 18,931, 948 16, 285, 110 2,646, 838
m |E=EE 10, 390, 224 10, 086, 768 303, 456
Wl |[E=EEzem 0 0
ol . [EEBZER 0 0
| B\ ImEaasmEs 0 0 0
= R e A B 15, 837, 929 15, 556, 170 281,759
BRSBTS EEEE 7,464, 184 7,433,708 =30, 476
BURAAERE 0 0 0
BUNTREER | DR 0 0 0
ZOMDER 0 0 0
Y- EENERET (2) 145, 173, 835 125, 754, 237 19, 419, 598
YEXEBMERESE (3) = (1) — (2) 12,940, 235 18, 213, 358 =5 273,123
EASHSBIEINGS 90, 664 100, 600 9,936
SZHF SES S N 10,013 4,991 5,022
BT ETm2s 0 0 0
BIMEES 5502 0 0 0
T\ IR s e s 5 S 0 0 0
|| %% |samiasrsssings 0 0 0
Bl |EAmETms 0 0 0
z| |ErEETms 0 0 0
= [zofhoy—tEESRE 5, 565, 500 1,993, 550 3,571, 950
#| | —CXEBIMRSEL (4) 5,666, 177 2,099, 141 3,567, 036
e 367, 385 378, 712 =11, 387
| [AAESEHEA 0 0 0
Bl | e 0 0 0
| g | 1B AMEE 35 STATIE 0 0 0
0| | BESIHEES AR 0 0 0
ap| " | EARAEE SIS 0 0 0
T AR e 0 0 0
ZOfhDY—E R EENIEE 1,224, 300 1,029, 000 195, 300
Y- EENSERET (5) 1,591, 685 1,407,772 183,913
H-CARBINEREE (6) = (4) — (5) 4,074, 492 691, 369 3,383,123
REEREE (7) = (3) + (6) 17,014, 727 18, 904, 727 =1, 890, 000
MRS RE RIS 471,390, 000 0 41,390, 000
MBS R B M B INZS 0 0 0
p| EEEASEA R TRISRSHSING 0 0 0
| EEAER S 0 0 0
| |BERESEE 0 93, 500 -93, 500
o [EOMORRIRS 0 0 0
RNz (8) 41, 390, 000 93, 500 41, 296, 500
B [=xamEAE 0 0 0
| |&EsnmE 0 0 0
o| |BramEsme-nsE 0 75, 002 75, 002
wr| B | B S SR S AR (RH1%5) 0 0 0
A | B BB & 2 R R T ST AR 9, 390, 000 0 9,390, 000
PE=ES 0 0 0
ZOfDHERIIE S 0 0 0
45RIBEMAE (9) 9,390, 000 75, 002 9,314,998
TERIERERE (10) = (8) — (9) 32, 000, 000 18, 408 31, 981, 502
CHREEIERELE (11) = (7) + (10) 49,014, 127 18, 923, 225 30, 091, 502
e iR EE SRR (1 2) 57, 236, 020 55 812, 795 1,423,225
* [MERRME BN (13) = (11) + (12) 106, 250, 747 74,736, 020 31,514, 127
= [EASEEHE (14) 0 0 0
5 |zt 2EEREE (15) 20, 500, 000 0 20, 500, 000
" [ZOMOETTSTETEE (16) 0 17, 500, 000 ~17, 500, 000
s |REBGHSESNERZEEE (17) = (13) + (14) + (15) — (16) 126, 750, 747 57, 236, 020 69,514, 727

11




